Divisibility tests can be used to find factors of large whole numbers quickly, and thus determine if they are prime or composite. When working with large whole numbers, tests for divisibility are more efficient than the traditional factoring method.

	Divisibility Tests
	Example

	A number is divisible by 2  if the last digit is 0, 2, 4, 6 or 8. 
	168 is divisible by 2 since the last digit is 8. 

	A number is divisible by 3  if the sum of the digits is divisible by 3. 
	168 is divisible by 3 since the sum of the digits is 15 (1+6+8=15), and 15 is divisible by 3. 

	A number is divisible by 4  if the number formed by the last two digits is divisible by 4. 
	316 is divisible by 4 since 16 is divisible by 4. 

	A number is divisible by 5  if the last digit is either 0 or 5. 
	195 is divisible by 5 since the last digit is 5. 

	A number is divisible by 6  if it is divisible by 2 AND it is divisible by 3. 
	168 is divisible by 6 since it is divisible by 2 AND it is divisible by 3. 

	A number is divisible by 8  if the number formed by the last three digits is divisible by 8. 
	7,120 is divisible by 8 since 120 is divisible by 8. 

	A number is divisible by 9  if the sum of the digits is divisible by 9. 
	549 is divisible by 9 since the sum of the digits is 18 (5+4+9=18), and 18 is divisible by 9. 

	A number is divisible by 10  if the last digit is 0. 
	1,470 is divisible by 10 since the last digit is 0. 


Let's look at some examples in which we test the divisibility of a single whole number. 

	Example 1:   
	Determine whether 150 is divisible by 2, 3, 4, 5, 6, 9 and 10. 
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	150 is divisible by 2 since the last digit is 0. 

	 
	150 is divisible by 3 since the sum of the digits is 6 (1+5+0 = 6), and 6 is divisible by 3. 

	 
	150 is not divisible by 4 since 50 is not divisible by 4. 

	 
	150 is divisible by 5 since the last digit is 0. 

	 
	150 is divisible by 6 since it is divisible by 2 AND by 3. 

	 
	150 is not divisible by 9 since the sum of the digits is 6, and 6 is not divisible by 9. 

	 
	150 is divisible by 10 since the last digit is 0. 
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	Solution:   
	150 is divisible by 2, 3, 5, 6, and 10. [image: image3.png]
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	Example 2:   
	Determine whether 225 is divisible by 2, 3, 4, 5, 6, 9 and 10. 
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	225 is not divisible by 2 since the last digit is not 0, 2, 4, 6 or 8. 

	 
	225 is divisible by 3 since the sum of the digits is 9, and 9 is divisible by 3. 

	 
	225 is not divisible by 4 since 25 is not divisible by 4. 

	 
	225 is divisible by 5 since the last digit is 5. 

	 
	225 is not divisible by 6 since it is not divisible by both 2 and 3. 

	 
	225 is divisible by 9 since the sum of the digits is 9, and 9 is divisible by 9. 

	 
	225 is not divisible by 10 since the last digit is not 0. 
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	Solution:   
	225 is divisible by 3, 5 and 9. [image: image7.png]
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	Example 3:   
	Determine whether 7,168 is divisible by 2, 3, 4, 5, 6, 8, 9 and 10. 
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	7,168 is divisible by 2 since the last digit is 8. 

	 
	7,168 is not divisible by 3 since the sum of the digits is 22, and 22 is not divisible by 3. 

	 
	7,168 is divisible by 4 since 168 is divisible by 4. 

	 
	7,168 is not divisible by 5 since the last digit is not 0 or 5. 

	 
	7,168 is not divisible by 6 since it is not divisible by both 2 and 3. 

	 
	7,168 is divisible by 8 since the last 3 digits are 168, and 168 is divisible by 8. 

	 
	7,168 is not divisible by 9 since the sum of the digits is 22, and 22 is not divisible by 9. 

	 
	7,168 is not divisible by 10 since the last digit is not 0 or 5. 
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	Solution:   
	7,168 is divisible by 2, 4 and 8. [image: image11.png]
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	Example 4:   
	Determine whether 9,042 is divisible by 2, 3, 4, 5, 6, 8, 9 and 10. 
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	9,042 is divisible by 2 since the last digit is 2. 

	 
	9,042 is divisible by 3 since the sum of the digits is 15, and 15 is divisible by 3. 

	 
	9,042 is not divisible by 4 since 42 is not divisible by 4. 

	 
	9,042 is not divisible by 5 since the last digit is not 0 or 5. 

	 
	9,042 is divisible by 6 since it is divisible by both 2 and 3. 

	 
	9,042 is not divisible by 8 since the last 3 digits are 042, and 42 is not divisible by 8. 

	 
	9,042 is not divisible by 9 since the sum of the digits is 15, and 15 is not divisible by 9. 

	 
	9,042 is not divisible by 10 since the last digit is not 0 or 5. 
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	Solution:   
	9,042 is divisible by 2, 3 and 6. [image: image15.png]
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	Example 5:   
	Determine whether 35,120 is divisible by 2, 3, 4, 5, 6, 8, 9 and 10. 
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	35,120 is divisible by 2 since the last digit is 0. 

	 
	35,120 is not divisible by 3 since the sum of the digits is 11, and 11 is not divisible by 3. 

	 
	35,120 is divisible by 4 since 20 is divisible by 4. 

	 
	35,120 is divisible by 5 since the last digit is 0. 

	 
	35,120 is not divisible by 6 since it is not divisible by both 2 and 3. 

	 
	35,120 is divisible by 8 since the last 3 digits are 120, and 120 is divisible by 8. 

	 
	35,120 is not divisible by 9 since the sum of the digits is 11, and 11 is not divisible by 9. 

	 
	35,120 is divisible by 10 since the last digit is 0. 
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	Solution:   
	35,120 is divisible by 2, 4, 5, 8 and 10. [image: image19.png]
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	Example 6:   
	Is the number 91 prime or composite? Use divisibility when possible to find your answer. 
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	91 is not divisible by 2 since the last digit is not 0, 2, 4, 6 or 8. 

	 
	91 is not divisible by 3 since the sum of the digits (9+1=10) is not divisible by 3. 

	 
	91 is not evenly divisible by 4 (remainder is 3). 

	 
	91 is not divisible by 5 since the last digit is not 0 or 5. 

	 
	91 is not divisible by 6 since it is not divisible by both 2 and 3. 

	 
	91 divided by 7 is 13. 
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	Solution:   
	The number 91 is divisible by 1, 7, 13 and 91. Therefore 91 is composite since it has more than two factors. 


Above info taken from the following website/link:

http://www.mathgoodies.com/lessons/vol3/divisibility.html
